
 

 

 

 

 

 

 

 

%TWg;Gf; ,Ugbf; Nfhitfspd; fhuzpfs;. 

      

        a𝒙2 + b𝒙 + c vd;w tbtj;jpy;. 

    

   c + k;:- 

              01. 2y2 + 7y + 6 

                    = 2y2  + 4y + 3y + 6  

                    = 2y (y + 2) +3 (y + 2) 

                    = (y +2) (2y + 3) 

 

02. 6x2 + x – 15 

     = 6𝑥2 + 10𝑥 - 9𝑥 - 15 

     = 2𝑥 (3𝑥 + 5) - 3 (3𝑥 + 5)  

     = (3𝑥 + 5) (2𝑥 – 3) 

 

01). gapw;rp. 

  1. 2𝑥2 + 9𝑥 + 10     2. 2y2 + 3y + 1 

     2.  3p2  - 2p – 8     4.  5m2  - 16m - 16 

     5.  7𝑥2 _ 18𝑥 + 8     6.  𝑥2 y2 + 10𝑥y + 16  

     7.  6𝑥2 + 3𝑥 - 3     8.  4y2 + 4y - 3  

rgufKt khfhzf; fy;tp jpizf;fsk; 

thuhe;j ghlrhiy 

ghlk; - fzpjk; Vg;uy; -: 2k;; thuk;  

juk; - 10  S. n[aNjtp. Nf/ nj`p/ ept; nghyl;lfk j.tp 

2y2 + 7y + 6  ,d; fhuzpfspd; ngUf;fk;  

2y2 x 6 = 12y2               (+ 4y) x (+ 3y) 

$l;Lj;njhif = 7y Mf Ntz;Lk;. 

ngUf;fk; = 6𝑥2 x  -15 = (-90𝑥2) 

fhuzp = (+10𝑥) x (-9𝑥) 


